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3X1=3 (=— SAWVBHEDR)
3X2=06 (== SAln)
3X3=9 (== SZAN)
3X4=12 (=W =AL)

3XS=1050 (= &AD)
3X6—=18 (=~ &585<)

3XT7T=21 (=t &ALb)
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4 X 1=4 (U—  LWHR)
4 X 2=28 (U= Liz2d)
4 X3=12 (W= L&EA)

4X4=16 (upy L)
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4 X06=24 (N LAL)

4 X7T=28 (mt LLbB)

3X8=24 () A 4X8=32 U\ LI
3X9=27 Eh &aL) 4X9=36  @Uh L)
MTEZLEL LD,
3X1=3 3X3=09 3X4—=12 3X6=18
3IXT7T=21 3X8=24 4X2=8 4X3=12
4X6=24 4X7=28 4X8=32 4X9=36
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6X1=6 (R— AL WHEDR) T X1=7 (t— LbnHa)
6X2=12 (= »<1i0) TX2=14 (= Lb
6X3=18 (K= A& T X3=21 (= Lb&A)
6X4=24 (Kmm A<L) T X4=28 (kW LbL)
6 X5=30 (K& A<D T X5=30 (£t LbHD)
6X6=36 ("~ ALAL) TX6=42 (X LbaAL)
6X7=42 (5t ALILbB) TXT7T=49 (£t LbLb)
6 X8=48 (KN A1) T X8=506 (/) LbID
6 X9=54 (K A-X) TX9=063 (th LBL)
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6 X1=6 6 X3=18 6 X4=24 6 X7=42

6 X8=48 6 X9=54 TX2=14 7TX3=21

7TX5=3D5 TXT7T=49 7TX8=5H6 7TX9=6 3
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8 X 1=28 O\— 1ZbnbH) 9X1=9 Ou— <»Hd)
8X2=16 (\= Z6l) 9X2=18 (.= <)
8X3=24 (\= iFbsi) OX3I=27 h= <xA)
8X4=32 \M ZHL) 9X4=36 (Jum <L)
8Xo=40 N\&E Zb6D) O9Xo=45 (hfi 2)
8X6=438 (UK 1IEbasL) O9X6=504 (Jusk <AL)
8XT7T=56 U\t iIbLb) OX7=63 (ut <Lb)
8X8=64 (UL F-o1) OXE8=72 (UL <D
X 9=72 (UL 1I-<) O9X9=81 (Jut <X)

MTEHXLEL &S,
X 1=8 88X 3=24 8X4=32 X6 =48

8XT7T=56 8X9=72 9X2=18 O9X3=27

9X4=36 9X6=0504 O9X7T=63 9X9=81
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D3xX8=214
@5X9=45
@9X4=36
@DW7X2=14
®4X8=32
®2X5=10
M1 X8=8

®6X6=236
@8 X4=32
W2X8=16
5 X7=35
@3X4=12
@1X6=56

W7X4=28

M9 X6—=54

2| HEZELELLS.
D4 x1=4
@6 XxX9=514
®8X5=40
@5%Xx3=15
®1XxX4=14
©®4X6=24
MD7X8=56
®2x7=14
@3X9=27
6 x4=24
M9 X1=9
@8 X9=72
M4 x4=16
@7 X6=42
®3x7=21
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